

Date:

Sub:

جهد الجاذبية

٢٠

$$m_{AB} = \frac{-q-1}{r-r} = \frac{-1r}{r} = -1 \rightarrow m = \frac{1}{r}$$

$$M \left| \begin{array}{l} \frac{r+r}{r} \leq r \\ \frac{r-r}{r} \leq 1 \end{array} \right.$$

$$\rightarrow y-1 = \frac{1}{r}(n-r) \rightarrow y = \frac{1}{r}n + \frac{r}{r}$$

$$m_{BC} = \frac{v-r}{-r+1} = \frac{r}{-r}$$

$$y-r = \frac{-r}{r}(n+1) \rightarrow y = \frac{-r}{r}n + \frac{r}{r}$$

$$y + \frac{r}{r}n - \frac{r}{r} = 0 \xrightarrow{\text{Rajab}} \frac{|1+r-\frac{r}{r}|}{\sqrt{1+\frac{r}{r}}} = \frac{\frac{1}{r}}{\frac{r}{r}} \leq r$$

$$BC \rightarrow \sqrt{\left(\frac{r+r}{r}\right)^2 + \left(\frac{r-r}{r}\right)^2} = r$$

$$d-r = r$$

$$y-n-v \leq 0$$

$$y - \frac{r}{r}n - 1 \leq 0 \quad \frac{r}{r} \leq 1 \rightarrow \textcircled{a=y}$$

$$r = \frac{|-v+1|}{\sqrt{r+1}} \rightarrow r = \frac{vr}{r(r)} \Rightarrow S = \pi r^2 = \pi \left(\frac{r}{r}\right)^2 = \frac{r}{r} \pi = \frac{vr}{r}$$

$$M \left| \begin{array}{l} \frac{r+r}{r} \leq r \\ \frac{r+1}{r} \leq r \end{array} \right.$$

$$m_{AB} = \frac{r-1}{r-r} = \frac{-r}{r} = -1 \rightarrow n \leq 1 \quad y+r \leq 1(n+1) \rightarrow \textcircled{y = n-r}$$

$$\downarrow y-r = -1(n-r) \rightarrow \textcircled{y = n+r} \Rightarrow n+r \leq n-r$$

$$M \left| \begin{array}{l} \sqrt{\left(r-\frac{r}{r}\right)^2 + \left(\frac{r-r}{r}\right)^2} = \frac{r}{r} \end{array} \right.$$

$$\begin{array}{c} n = \frac{r}{r} \\ \downarrow \\ n = \frac{r}{r} \\ \downarrow \\ y = \frac{r}{r} \end{array}$$

Elipon

Date:

Sub:

$$\frac{r - rm}{\omega - m} \times \frac{m+1}{rm - r} = -1 \rightarrow (rm - r)(m+1) = -(m-1)(rm - r) \quad (5)$$

$$rm^2 + rm - rm - r = -rm^2 + rm + 1 - m - r \rightarrow \omega m^2 - rm + 1 = 0$$

199 - 198 + 1 = 2  
 $\downarrow$   
 m/1000

$$A \Rightarrow -\frac{1}{r}n + \frac{r}{r} = rm - 1 \rightarrow n \leq 1$$

$$y \leq 1$$

$$B \Rightarrow w - y = r - y \rightarrow y \leq 1$$

$$u \leq 0$$

$$C \Rightarrow -n + r = rm - 1 \rightarrow n \leq \frac{r-1}{r}$$

$$y \leq \frac{r-1}{r}$$

$$\left. \begin{array}{l} \frac{r-1}{r} \leq \frac{1}{r} \\ \frac{r-1}{r} \leq \frac{r}{r} \end{array} \right\} \rightarrow n$$

$$AM = \sqrt{\left(1 - \frac{1}{r}\right)^2 + \left(1 - \frac{r}{r}\right)^2} = \frac{\omega}{r} \sqrt{r}$$

$$AH = \frac{|1 + 1 - r|}{\sqrt{r}} \leq \sqrt{r}$$

$$\frac{\omega \sqrt{r}}{r} \leq \frac{d}{r}$$

$$y = -\frac{1}{r}n + b \rightarrow y + \frac{1}{r}n - b \leq 0$$

$$\sqrt{\omega} \leq \frac{|-b|}{\frac{\omega}{r}} \rightarrow b \leq \pm \omega$$

$$\left. \begin{array}{l} |AO| \leq \omega \\ |AB| \leq 1 \end{array} \right\} \rightarrow \sqrt{1 + \omega^2} \leq \omega \sqrt{d}$$

$$(1-m)r + r = \frac{rm + rm}{m} \rightarrow \frac{r}{r}$$

$$r - 1 \leq -r$$

$$\begin{array}{c} y \leq 0 \\ y \leq 0 \end{array} \left| \begin{array}{c} \frac{r}{m-1} \\ 0 \\ -\frac{m}{r} \\ 0 \end{array} \right.$$

$$\Rightarrow \left| \frac{r}{m-1} + \frac{m}{r} \right| \leq \frac{1}{r} \leq \frac{d}{r}$$

$$\frac{r}{m-1} + \frac{m}{r} \leq \frac{d}{r} \rightarrow rm^2 - 4m + 9 \leq 0 \rightarrow m \leq 1$$

$$\frac{r}{m-1} + \frac{m}{r} \leq \frac{d}{r} \rightarrow rm^2 + (m-1) \leq 0$$

Elipon

$$\frac{9+0}{2} = 4.5 \rightarrow 5$$

$$n=0 \rightarrow y=-3$$

$$y-2n+3=0 \rightarrow n=2$$

(9)

$$\frac{13-3}{2} = 5 \rightarrow 5$$

$$y_{n+1} = 2(n-5) \Rightarrow y = 2n-10$$

(5)

چون نماز  
نوع اول دوم  
مهره ها را واحد الی بر دهم  
نوع دوم  
مهره ها را واحد الی بر دهم  
نوع اول دوم

(5)

$$\Rightarrow \begin{array}{c|c} 1 & \\ \hline 2 & 5 \end{array} \rightarrow \begin{array}{c|c} 1 & \\ \hline -3 & \end{array} \xrightarrow{\text{مهره}} \begin{array}{c|c} -3 & \\ \hline 1 & \end{array} \xrightarrow{\text{مهره}} \begin{array}{c|c} -3 & \\ \hline 1 & 4 \end{array} \rightarrow \begin{array}{c|c} -3 & \\ \hline 9 & \end{array}$$

$$12 + 3 = 15$$